
 

substituting no like
terms

X 25 74
2 42 25

25 7 y
142 25

625 2125 C7y t49y2 11
2
25

50 y 350 1 625 25 0

Joy 350,1 600 0

5042 7y 1121 0

501 0 Icy
4 Cy 37 0

IIi

y 3



Solve for x

Note Try to avoid
substituting into
a conic equation

We'll show you why later
x 174 25

Let y 4 Lety 3

7141 25 x 1767 25

His
Isa solution is a solution

solutions
x y E Es 4,1413



Question Why not sub
into conic equation

t y 25

Let y 3

X't 3 725
2 9 25

X 16
x I 4 3 4 i4

are solutions

X t f y
25 Check

3 7C 4 25

3 28 25

25 25
3 4 is not asolution



Recall linear equation
axtb

c.Howmanysolutions fox.lt
Recall quadratic equation
axHbxtc D

How many solutions for X 2

Alwayspickegnation
more likely to give you
fewer REAL solutions
when substituting


